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Choose the correct answer from a, b, cor d:

@ We put ... panels on a roof. They produce electricity using the sun.
a) space b) robot
c) drone d) solar
O llove ... because I'm good at swimming under water.
a) kayaking b) sailing
c) trekking d) diving
OA .. is a person who shows a place to tourists.
a) visitor b) pilot
c) nurse d) guide
O 1 think We .o, live on the moon. There’s no water there.
a) will b) won't
c) must d) should
© What are you going to .......ccccceeeeee. tomorrow?
a) wearing b) worn
c) wore d) wear
O There ...ccoccceveeeea, be any ordinary cars in the future.
a) aren't b) wouldn't
c) won't d) will
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@ Mathematics

Choose the correct answer:
0 If x + 5 < 3, then x can be any number less than ...
a)3 b) 5
c)-2 d) no correct answers
9 The sum of the measures of the interior angles of a triangle is -
a) 270° b) 360°
c) 180° d) 90°
9 The S.S. of the equation x + 17=13in N is -

a) @ b) {29}
o) {-4} d) {4}
Q In the opposite figure, X = v N
a) 10 b) 5 6
8
c) 15 d)14
(3+2x4+2)
“4-3 -
a)l b) 5
5“
.
2
In the opposite figure, the figure A'B'C'D - L
6 PP J J ‘% 5
is the image of the figure ABCD by a translation .. -
3
a)(x-6,y-3) b) (x+6,y+3) v
) (y-6,x+3) dx,y-6)
ﬂ In a right-angled triangle, the measure of any of the two acute angles when it is an iscoceles
triang]e [ L
a) 60° b) 45°
) 90° d) 180°

0 5x — 5> 13 - 4x, then the solution of this inequality is -

a)x=2 byx<2

cA)x>18 dx>2
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Choose the correct answer:

o Ammonia combines with conc. hydrochloric acid producing .........ccceceeeevecuneee. of

ammonium chloride.
a) white ppt b) black clouds
c) white clouds d) black ppt

9 The substances that resulted from the burning of coal and cellulose fibers cause.......... .

a) lung cancer b) headache
¢) fainting d) eye cataract
0 An object’s weight on the Earth’s surface is related to .....cccoeevercerrcnrrennnen. force.
a) electromagnetic b) gravitational
¢) weak nuclear d) strong nuclear

O The bar used in the electromagnet is made up of ......cccoveevvercvernnnenee .
a) aluminum b) wrought iron
¢) isolated copper d) plastic

e The car brake performance is an application of ...........ccccceveeeereennnee 4

a) gravitational force b) friction force
c) electromagnetic force d) forces of inertia
@ The speed of light waves in free space is .......cccverrerrenen. the speed of radio waves.
a) less than b) more than
¢) equal to d) (a) and (b)
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Choose the correct answer from a, b, cor d:

@ The is on top of a house.
a) wall b) tap
c) oven d) roof
@ We all looked at .........oee..... in the school photo.
a) themselves b) ourselves
c) yourselves d) yourself
€ You use a/an .ee..... to cook food or bread.
a) roof b) oven
c) brick d) tap
@) Don't swim in the sea when it is ....o........ .Itis dangerous.
a) hot b) stormy
) rain d) sunny
© What are you .............. do next Saturday?
a) going to b) going
c)go d)goto
O We will all ene....... a driverless car in 2080.
a) has b) having
c) have d) had
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@ Mathematics

Choose the correct answer:

0|f5x—8:13—2x,thenx: ...................

a)-3 b) 21
c) 0.25 d)3
9 In the right-angled triangle at B, if AB=7 cm, BC=24 cm, then AC= - cm.
a) 25 b) 17
) 31 d) 23

elfx—3%:5,thenx: ...................

a)2; b)-21
983 10l

@) In the opposite figure, the length of the diagonal of the rectangle = -....... om.
a)6 b) 7 .
10 d)9 6

@ 000012=
a) 12x 10* b)1.2x 103
912x10° d) 1.2 10

@ If the sum of measures of two interior angles of a triangle is greater than the measure of

the third angle, then the triangle is -

a) an acute-angled triangle b) an obtuse-angled triangle

) aright-angled triangle d) no enough information to decide
@ 15+ =9

a)3 b) -6

c) 66 d) 81

0 The image of the point (3, -2) is the point (8, 3) by the translation ...
a)(x-5y-1) b)(x+5,y+1)

Q) (x+5y+5) d) (x-5,y+5)
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Choose the correct answer:

o If the Earth’s gravity acceleration is 10 m/s? then the mass of an object whose weight is

60 NEWLONS iS ..cvucvereerrrrennenne kg.
a)6 b) 600
c) 60 d)5

9 The motion of the train is ......cceeeeeeeeennee .

a) periodic motion b) vibrating motion
C) wave motion d) transitional motion
0 Gravity cecoeeeeeeeveeeecuneene by increasing the height (distance from Earth’s center).
a) increases b) decreases
¢) remains constant d) no correct answers
O The sum of reactants masses in any chemical reaction is ........ccccccevvunnee. the sum of products
masses.
a) doubled b) more than
c) equal to d) less than
@ The inertia force affects the ... objects.
a) moving b) static
¢) moving and static d) no correct answers

G If two cars move in opposite directions with a velocity of 60 km/h, the driver of the first car

observes that the second car moves with a velocity of ... km/h.
a) zero b) 120
) 240 d) 60

ualac)l .Jg%l oll @.



U0l
Uliclw

Galacyl Joill Lanl

Jorl e gin

@ ClonAillaa<io jUial

4 O1a) aad (AP § guln g (1)

(s 9l Gty Lo Al ¥ | s -
! il d 2,0 e Jal ) pdad | dule (g ot Jlay dilovmcs ] sl (S 9 (o Ao 433 3 »

Cigaday ¥ ulilly ¥ s gl 4l Bale ) Ll gey

(@‘—Cﬁ“—‘ﬁ@—ﬁm) ................................. :«d.ugi»‘_;\.smo
(433%—43335@—433@‘—433%‘) ................................. i gmilay» ALA‘A.Ao

............................. 3141 40,81 e bl dyle uisy s Of wey @)

(i3 Ly = JHikl = Bypland | Zyill = pomdl oL )

(b lass b ¥ = pabdli-dala—p3¥) Lia J#al € granll Saladl Juadl JaSi» @)
(GslgWiss - plidaca - yedi = hed) o (Cipes) diyae didie ol @)
€Oyl yai (e ()

9| (i Las dovma| Ayl d | s -

5yo—ana —ially L_glal 3)yg—ame doyd Ciles Jlay

(53all - Bsall = 5uddl—us31) ol e @)

(ML&‘LA‘&C}J.‘LA‘AAW—A‘&JB) ................................. :«BJ}A.i.A»AL‘Z:.Ao
(G- usi = Jumdi— Julal) B Loy ai3dle € ol JLuw» yaill @)

................................. Lia Jelall S50 » Aall Gaiua Ll Guylall 3 Osdsattl p5su» €D

.o

(ol = Lyl = Siiaa rass - (59543L1)

(Saiacs = Ligila = [5gmca — 5LE ) s AS,ma e Tl J] gyttt el (D)

o _J
alac¥l Jg¥l caall -




Choose the correct answer from a, b, cor d:

€ You can turn on the ...eeee.......

a)tap

c) tape

to get water.

b) tip

d) tube

@ Some houses fell to the ground after the .................... .

a) wind
c)igloo

@ | don't want to have a/an
a) experiment

c) adventure

O1d . play chess.

a) prefer

c) got

© In 2080, students Will ....................

them to school!

--------------------

b) snow

d) earthquake

on holiday, | want to sleep by a pool!

b) tent

d) travel

b) rather

d) refer

a book when a computer on the car drives

a) read b) reads
¢) reading d) be read

[ 6 J— going to travel home by bus after school?
a) You are b) Are you
c) Do you d)Youdo
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@ Mathematics

Choose the correct answer:

0|fa<b,thena+c ................... b+c
a)E b):
)< d) >

Q In a right-angled triangle, if the measure of one of the two acute angles is twice the other, then

the measure of the biggest acute angle = -

a) 60° b) 70°
c) 120° d) 180°

€ 700,000 = -.........
a)7x10° b) 7 x 108
Q7x10° d) 0.7 x 10°

0 The image of the point (0, -5) by the transformation (-x + 2, -y) is
a) (-2,5) b) (-2, -5)

0 (2,5) d)(5,-2)

9 32x6+3

Ix1+G+ 17
a)o b) 1

Q)2 d)3

6 The image of the point (x,y) by reflection on the origin point is
a) (~x,-y) b) (x,y)
Q(=x,y) d) (x,-y)

a) 16 b) 2
)4 d)9

9 If the sum of measures of two interior angles of a triangle equals the measure of the third angle,

then the triangle is -

a) an acute-angled triangle b) an obtuse-angled triangle

¢) aright-angled triangle d) otherwise

golackl dgi(l @all @ .



Choose the correct answer:

o Reaction of carbon monoxide with oxygen produces ...........cceeeenneen. .

b) CO

3

d) (a) and (c)

9 When

a) fo

ard suddenly, the passenger rushes .........oecovveveerennee .
b) backward

C) upri€ d) downward

9 If the mass of an obj s to its half, the weight ......ovecveerrnecnnees .

a) increases to double is still constant

b)
c) decreases to the half ) no correct answers
o The idea of working the atomic bo ndsfoh, the use of ........vercerverennnnns force.
a) gravitational e i
c) strong nuclear @ 7 d)
e Water transports from soil to leave & tglant by ({0l ... forces.

a) gravitational

) inertia d) friction

0 .......................... are used in examining mineral raws in industry.
a) X-rays b) Gamma rays
¢) Infrared rays d) The visible light
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Choose the correct answer from a, b, cor d:

@ d) solar

@) d) diving

@ d) quid

@ b) won't

© d) wear

@ <) won't
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@ Mathematics

Model Answer:

golackl dg%l @all @.



7))
(1)
D
-
(1]
®

@]

(o8 (e (on [<)

QOO0

ualac)l .Jg%l oll @.



O Ol Nl aa=io jliis |QJla|

Uo I
Uliclw

Galacyl Joill Lanl

Jorl e gie

il 5L paad| =8

eyl d Lglailes -0

J/
alac¥l Jg¥l caall @-



Choose the correct answer from a, b, cor d:

@ d) roof

@ b) oursely,

@ b) oven

@ b) stormy

@ a) going to

@ o) have

ualac)l .Jg%l oll @.



duclai allulL wlijll

Byl Giilisd) @)
oSl @
a3 @

sy @

Olagyll @

J
ualackl .Jg%l oll @.



J
Galae ¥ Jo¥l Cawall @.



J/
alac¥l Jg¥l caall @.



@ Mathematics

Model Answer:

G an acute-angled triangle

(7 3

6(x+5,y+5)
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Choose the correct answer from a, b, cor d:

@ a) tap

@) d) earthq

€ o) adve

@ b) rather

@ a) read

@ b) Are you
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@ Mathematics

Model Answer:

9 a right-angled triangle
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